DEEP CASE

1. U Total Field 
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2. V Total Field 
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3. Turbulent Kinetic Energy Total Field 
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4. Eddy Viscosity Total Field 
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5. Vector Field
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6. Turbulent Kinetic Energy Field
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7. Turbulent Kinetic Energy Dissipation Field
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8. Eddy Viscosity Field
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9. Concentration Field
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SQUARE CASE
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U Total Field
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2. V Total Field
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3. Turbulent Kinetic Energy Total Field
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4. Eddy Viscosity Total Field
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5. Vector Field
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6. Turbulent Kinetic Energy Field
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7. Turbulent Kinetic Energy Dissipation Field
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8. Eddy Viscosity Field
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10. Concentration Field
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